Gl = goge = P X A9/ KSasug

001 010
mOIm¢F.® -+ NOImmNﬁ = ELOZ T T TT 1T T T 1T T T [TrTr 1 1T 1§
00+3¥S'E -+  10-T¥0'C = [A%v] L - + + =
10+3242 -+  00+3ESS = HN - b -
- T -
11-30%'% = xnig = +} i + +L‘ .
10-4dsz'e = ajed OOQW - 1 1 | I T T B 1 | I _”
A9/ AS1auy A9¥ /ABasuy
001 010 001 o1o
______ I I ______|®|O.H I_ _______ I I _______I
. o L 1
3 =L i
= ¢-01 24 _ -
O - —
7 = [ ]
— )]
+ - < )
Fyor 5| - -
_ N
] 0 - .
= = | -
S eg-0T 2 [ 1
I __ﬁ____ I I NN . I R I Lot 11—+

112212+9°0200GIr SXde eXauw, wures LL00 6EETEL

s[enpisay

(A®Y s)/s3uno)




